
0.0.1 Unemployment Risk as a Mean Preserving Spread

A consumer who is employed in the current period has ξt = 1; if this person
is still employed next period (ξt+1 = 1), market resources will be

mmme
t+1 = (mmme

t − cccet )R + Wt+1`t+1. (1)

However, there is no guarantee that the consumer will remain employed:
Employed consumers face a constant risk 0 of becoming unemployed. It will
be convenient also to define ��0 ≡ 1 − 0 as the probability that a consumer
does not become unemployed. Whether the consumer is employed or not, his
labor productivity ` is well-defined:1 ` is assumed to grow by a factor ��0−1

every period,
`t+1 = `t/��0, (2)

which means that for a consumer who remains employed, labor income will
grow by factor

Γ = G/��0 (3)

so that the expected labor income growth factor for employed consumers is
the same G as in the perfect foresight case:
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= G,

which is the reason for (2)’s assumption about the growth of individual labor
productivity: It implies that an increase in 0 is a pure increase in uncertainty
with no effect on the PDV of expected labor income.

1‘Labor productivity’ is purely hypothetical for a consumer who is unemployed; but
defining it even for unemployed consumers simplifies notation and some later analysis.
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